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Question No. 1
Which of the following statements is FALSE?
1. Focal length of a convex lens is positive.
2. Focal length of a concave lens is negative.
3. All measurements to the right of the optic centre are positive.

4. All measurements to the left of the optic centre are positive.

A)Statement 1 only B) Statement 2 only
C)Statement 4 only D)Statement 3 only
T Fu=t & & =i @ Toa §2

1. 3cqd o Y BIFH g UAHF Bl ol

2. HqA oFF Y BIHE G HOMHF giell o

3. warRir &g & or$ AR Ar W AT g e &

4, gl &g & 918 3R A T3 AT GacH1F i &

A)dhad HUT 1 B)shddl YT 2
C)dhad HU 4 D)&hae HUA 3
Answer Key : C Your Response : D (Wrong)

Question No. 2
A man started from a place. After walking a kilometer, he turns left. Then walking for half a kilometer, he
again turns left. He is going eastwards. Towards which direction did he start?
A)South B)East
C)West D)North

UF AT TF STE W T Y T ¢ T eIy go & a1g, 9 ¢ F{3ar gl A 3mer freheiex Tem
& a1g, 9§ I §1¢ Hsar g1 9 q9 A AN S T 7| A, 36 aved F T fwm #F Teren yw R ar

A)afaroT B)q&@
C)ufa# D)3k
Answer Key : C Your Response : B (Wrong)

Question No. 3
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How many triangles are there in the given figure?

10

C) D)

19

21 i g 4 e g 2

A B
) 10 )
15
© g 12
19
Answer Key : D Your Response : B (Wrong)

Question No. 4
'A' sells a suitcase to 'B' at 10% profit. ‘B’ sells it to 'C' at 30% profit for Rs.2860. What is the cost price for 'A'?
A)Rs.2200 B)Rs.1000
C)Rs.2000 D)Rs.1600

'A' 10% F & W 'B' F U HeHH J9ar g1 ‘B 'S/ C' F 30% o W ¥.2860 F a=ar g1 'A' F v FH

A F FEM?

A)T. 2200 B)%. 1000

C)%. 2000 D)%. 1600

Answer Key : C Your Response : C (Correct)

Question No. 5 TOp



Complete the series.

A, C,AEAGAILA,(.)

A)K B)P
0Q D)N
Sofr & qut ¥l

A C A EAGA I A ()

AK B)P
c)Q D)N
Answer Key : A Your Response : A (Correct)

Question No. 6

Where are the Elephanta Caves located?

A)Jaipur B)Bengaluru

C)Mumbai D)Konark

wfither 1 I e R ¥

A)SIR B)sdTe[®

C)'ﬂﬁé’ D)Eﬁl'U'I'I#

Answer Key : C Your Response : Not Answered

Question No. 7
Sum of numerator and denominator of a fraction is 13. Adding 3 and 9 to the numerator and denominator

respectively, the fraction becomes 2/3. What is the product of the numerator and denominator of the original

fraction?
A)30 B)24
C)45 D)42

R e & 3ter 3T & 1 AT 13 &1 379w 3R & # FAw: 3 3K 9 A W, BT F AT 2/3 @) ST
Ao et & 3fer 3R G T UG AT I?

A)30 B)24
C)45 D)42
Answer Key : D Your Response : D (Correct)

Question No. 8
If8#2@4=12and5#4 @ 2 =18, then what will be 4 # 8 @ 3?
A)13 B)32
C)26 D)29

IE8H2@4=123IR5#4@2=18% AT 4 # 8 @ 3 & AT AT AT

A)13 B)32
C)26 D)29
Answer Key : D Your Response : D (Correct)

Top
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When the number 42 is misread as 24, what is the percentage error?
A)28% B)55.34%
C)42.86% D)18%

S AT 42 F T § 24 g fAAr Sme, & wfawrd i w2 e

A)28% B)55.34%
C)42.86% D)18%
Answer Key : C Your Response : C (Correct)

Question No. 10
A sum of Rs.16400 is borrowed to be paid back in 2 years by equal payments allowing 5% Compound
Interest. Find the annual payment.
A)Rs.7590 B)Rs.8820
C)Rs.7495 D)Rs.7600

¥.16400 #r TR 3uR & ST ¥ AR 3/ 5% WHE sarer A X & FAET At fReal & 2 asf & gemr
ST g1 ¥ sperareT i af¥r wra AifSw

A)%.7590 B)®.8820
C)%.7495 D)%.7600
Answer Key : B Your Response : Not Answered

Question No. 11

Complete the series.

458, 435, 415, 398, 384, (...)

A)358 B)382
C)373 D)327
Soft &1 qot #XI

458, 435, 415, 398, 384, (..)

A)358 B)382
C)373 D)327
Answer Key : C Your Response : C (Correct)

Question No. 12

Find the missing number in the following series.
1,6,15,(...), 45, 66, 91

A)28 B)25
C)26 D)27
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frafaf@da 4oft % god d&ar A RSl

1, 6, 15, (..), 45, 66, 91

A)28 B)25
C)26 D)27
Answer Key : A Your Response : A (Correct)

Question No. 13

When is 'National Sports Day' celebrated?

A)July 27 B)November 12

C)August 15 D)August 29

T W fad w9 AART Srar g7

A)27 FelT$ B)12 sAdsx

C)15 31Ed D)29 3fIrEd

Answer Key : D Your Response : Not Answered

Question No. 14
If time upstream = n x time downstream and speed in still water is 'x' and speed of stream is 'y, then find x :
y.
A)n/2 B)(n-1)/(n+1)
C)n/(n-1) D)(n+1)/(n-1)

e arT & RAda Rer 7 Ok s/’ 9697 = n x 9R7 fr Rer 7 o =r gay § 3R aid s 7 =mer xR
YRT T T1er 'y, §, O X 1 y FT AT AT S0

A)n/2 B)(n - 1)/(n + 1)
C)n/(n - 1) D)(n + 1)/(n - 1)
Answer Key : D Your Response : D (Correct)

Question No. 15
Who was first Indian to be elected as the President of the United Nations?
A)Sarojini Naidu B) Indira Gandhi
C)Vijayalakshmi Pandit D)Annie Besant

TYFA WS & TSl F §T F Gol S arel Tgel HRAT FleT A?

AT AT B)gfeaxr amefr
C)fasrgere ufsa D)UY sdeC
Answer Key : C Your Response : C (Correct)

Question No. 16
Find the value of cos(A + B), if tan A = 3/4 and tan B = 5/12 and A and B are in quadrant .
A)33/65 B)15/48
C)16/65 D)1

cos(A + B) #I AT A #Y, I tan A = 3/4 3K tan B = 5/12 3R A 3R B wa# uqgier | & €

A)33/65 B)15/48 Top



C)16/65 D)1

Answer Key : A Your Response : A (Correct)

Question No. 17
Find the greatest number that can be formed out of the digits 9, 0, 8, 7, 9.
A)90987 B)98970
C)99780 D)99870

3% 9,08 7, 9 W T el I I3 HE&AT A FH{l

A)90987 B)98970
C)99780 D)99870
Answer Key : D Your Response : D (Correct)

Question No. 18

Iftan A+tanB=aand cot A+cotB=b,then1/a-1/bisequalto____.

A)sin(A + B) B)tan(A + B)

C)cot(A + B) D)cos(A + B)

Ifg tan A + tan B = a 3 cot A + cot B = b, @ 1/a - 1/b, F TR &l

A)sin(A + B) B)tan(A + B)

C)cot(A + B) D)cos(A + B)

Answer Key : C Your Response : C (Correct)
Question No. 19

The pupil is a part of-

A)Eye B) Gall Bladder

C)Kidney D)Bone Marrow

qeelr 1 T e Bl

A)3E B) Trcdmera

C)glﬁ? D)A#Y Asalm

Answer Key : A Your Response : A (Correct)
Question No. 20

Jaundice is a disease of the

A)Liver B)Eye

C)Lung D)Heart

iferar & T AN B

AT B)3il@

C)%hthsT D)geT

Answer Key : A Your Response : A (Correct)

Question No. 21
Which of these medical instruments usually has a metal needle attached to it?
A)Spatula B) Stethoscope
C) Thermometry D)Syringe

Top
g @ fore RSP 3uaor 7 IdR W U arg B g$ o@l gl 87



A)JTsT (Spatula) B)TCUIEHhIT
C)amfafa (Thermometry) D)RRS

Answer Key : D Your Response : D (Correct)

Question No. 22

The Union Home Secretary of India recently launched an online portal named for the grant of

security clearance.

A)"e-Clearance" B) "e-Security"

C)"e-Filing" D)"e-Sahaj"

AR F HT 7E AT & g & F geow Sie A el o F AT AT w1 v fferensger @ wie
forar

A)s-TFaaid B)s-faergRer

C)g-wrgfolar D)$-wgst

Answer Key : D Your Response : Not Answered

Question No. 23

Non-metals like sulphur and chlorine are foundonthe _________ of the periodic table.
A)Zig-zag B)Left hand side

C)Middle D)Right-hand side

Fehd AR Ferller ST 3rurqe aacr aRelr 7 915 S

A)fedis TEr W B)aT$ 3R

cymem & D)arg 3R

Answer Key : D Your Response : D (Correct)

Question No. 24
Which of the following reactions is an example of endothermic reaction?
A)Burning of natural gas B) Decomposition of ferrous sulphate
C)Dilution of sulphuric acid D)Dissolution of sodium hydroxide in water

Aff@d & ¥ Fla I 3ATRar, FsARNT JARTFAT FT v eI 72

A)IThide A HT STl B)&E Hethe &I HIdcsT
C)&ewgReh TS &l TeJehor D)ur=ll & |IfSTHA gSIFSS HT Holell
Answer Key : B Your Response : B (Correct)

Question No. 25
Find the average speed when the first half of a journey is done at a speed of 60 km/h and the second half at
a speed of 40 km/h.
A)52 km/h B)45 km/h
C)50 km/h D)48 km/h

Se Y AT T gger MUT ST 60 fRAeer R qEW T ST 40 fRder fr wrer & a7 AT Ser )
3wa = rer e AfSw)

A)52 ral/Eer B)45 ha/Eer
C)50 frafi/eer D)48 frali/eer
Answer Key : D Your Response : D (Correct)
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In a certain code language, 'TELEPHONE' is written as 'ENOHPELET'. How is 'ALIGATOR' written in that code?
A)ROTAGILA B)ROTEGILA
C)ROTAGILE D)ROTAGIAL

s ARaa a@ﬂm #, 'TELEPHONE' & 'ENOHPELET' for@r srar g1 36 H@WNT # 'ALIGATOR' &I o
for@r smeen?

A)ROTAGILA B)ROTEGILA
C)ROTAGILE D)ROTAGIAL
Answer Key : A Your Response : A (Correct)

Question No. 27
The Simple Interest on a certain sum at the rate of 5% per annum for 3 years is Rs.1260. Find the Compound
Interest for that sum at the same rate and for the same period.
A)Rs.1448.05 B)Rs.1384.05
C)Rs.1428.05 D)Rs.1324.05

T ARaT IR W 5% a1 ev W 3 a¥ Fr AraRor I $.1260 g1 38 IR W A &7 W A 34

T Tehqfe sATST A HIfST

A)%.1448.05 B)®.1384.05

C)%.1428.05 D)%.1324.05

Answer Key : D Your Response : D (Correct)

Question No. 28
The electron distribution in an aluminium atom is-
A)2,8,2 B)2,8,3
C)2,3,8 D)8, 2,3

T AT] F STl T WeY fAawoT FHieT AT §?

A)2, 8, 2 B)2, 8, 3
C)2, 3, 8 D)8, 2, 3
Answer Key : B Your Response : Not Answered

Question No. 29
In a certain code, 'JOVIAL is written as 'NQZKEN'. How would 'FIGURE' be written in that code?
A)JKKWVG B) JKKWGV
C)JKWKVG D)JKKVWG

w AR Fesmr 7, 'JOVIAL' & 'NQZKEN' fa@r sirar 1 38 Fesmr & 'FIGURE' & & farar sreem?

A)JKKWVG B)JKKWGV
C)JKWKVG D)JKKVWG
Answer Key : A Your Response : A (Correct)

Question No. 30
The protein in haemoglobin is-
A)Globin B) Globulin
C)Haem D) Albumin

Top
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A)TelifasT B)7eiisgfa=t
C)gr D)Tediae
Answer Key : A Your Response : Not Answered

Question No. 31

Solve forxandy: 9x+3y +12=0; 18x+ 6y+24 =0

A)x=1;y=7 B)x=2;y=-10
C)x=4;y=-16 D)No unique solution. There are infinitely many
solutions

fafld gl A gT P X IRy F AT AT AT : 9x + 3y + 12 =0; 18x + 6y+ 24 = 0

Ax=1;y=7 B)x=2;y=-10
Answer Key : D Your Response : D (Correct)

Question No. 32
Which of the following is India's first indigenous nuclear ballistic missile submarine?
A)INS Sindhugosh B) INS Arihant
C)INS Kalvari D)INS Shalki

AR Fr ggelr T W] dfafes s goagsd Mefaf@a & & wia @ 52

A)INS ﬁrgu’m B)INS 3RRgd
C)INS erasr D)INS eme<hr
Answer Key : B Your Response : Not Answered

Question No. 33
If 832.58 - 242.31 = 779.84 - a, find the value of 'a'.
A)199.57 B)189.57
C)295.05 D)179.57

gfe 832.58 - 242.31 = 779.84 - a §, A 'a' & AT A T

A)199.57 B)189.57
C)295.05 D)179.57
Answer Key : B Your Response : B (Correct)

Question No. 34
Find the HCF of 2 x 32x 52, 5 x 3 x 22 and 52 x 3 x 22,
A)30 B)90
C)60 D)150

2x 3 x5 5x 3 x 223K 5% x 3 x 22 & AH.T (HCF) AT |

A)30 B)90
C)60 D)150
Answer Key : A Your Response : A (Correct)

Question No. 35
Which of the following is used as an antiseptic to sterilise wounds and syringes in hospitals?
A)Methanol B) Propanol
C)Ethyl alcohol D)Butanol

Top



fAefaf@a & & frwer 3T Ireqarel # arEl IR WG F PMoERE F AT ve @Rtes & &7 7

ST &2
A) Tt
C)3ursa ehlgel

Answer Key : C

B) 9rdsiTer
D)sge=irel

Your Response : C (Correct)

Question No. 36

Find the ODD one out from the given options.

A)APQ
C)BJV

fRw 1w Rt F & reTaT @ ol
A)APQ
C)BJV

Answer Key : B

Complete the series.

4,5,8,15,30, (...)
A)78
C)61

Soft &1 qot ¥l

4, 5, 8, 15, 30, (..)
A)78

C)61

Answer Key : C

When atoms bond together chemically,
A)Element
C)Molecules

WHA] TS T § FH
A)dcd
C)317

Answer Key : C

B)LCI
D)DTJ

B)LCI
D)DTJ

Your Response : Not Answered

Question No. 37

B)72
D)69

B)72
D)69
Your Response : C (Correct)
Question No. 38
are formed.
B) Alloys
D)Both element and alloys

g I §
B) fareng
D)dea 3R fAserg alt

Your Response : C (Correct)

Question No. 39

With which of the following is the term 'Olfactory' associated?

A)Smell
C)Hear

B) See
D)Feel

Top
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A)3rer B)zfse
C)&aor DTt

Answer Key : A Your Response : A (Correct)

Question No. 40

CE-20isa/an______that was developed by ISRO .

A)Aircraft carrier B)Main battle tank

C)High thrust cryogenic engine D)Multirole fighter aircraft
CE-20 T t 9% ISRO @R fasfaa fomar arar |

A)argITeT dlgsh ol B)ATET Jg &h

C)3Td Yulig(thrust) rASIfAS 3ot D)sguael wsrE faHmeT

Answer Key : C ) Your Response : Not Answered

Question No. 41

Choose from the alternatives the figure that best completes the

pattern given below.

b

C) D)

T av Reedt & ¥ 37 3pla g, S A e o Yo o Q@ et
Gl

57

C) D)

Top



Answer Key : A Your Response : A (Correct)

Question No. 42
Which medical technique is used to find out stones in kidney and gall bladder, which is also used for
examining the foetus during pregnancy?
A)Electrocardiography B) Echocardiography
C)Magnetic resonance imaging D)Ultrasonography

7§ AR Ry & w2l & 91 o F v e RfRear awds #1392 B Srar 8, e soaer
sfiaear & SRt goT Fr ST F v o B ST 32

INEGEEIED DI B)SahIhITS TR
C)grFeshrg  3feaile  9fdf=oT  (Magnetic resonanceD)3egRlaTamdr
imaging)
Answer Key : D Your Response : D (Correct)

Question No. 43
Which of the following Articles in the Constitution grants us the Right to Equality?
A)Article 32 B) Article 23-24
C)Article 368 D)Article 14-18

AU fr BT e F F i A g gAEar 7 HOFR ar 82

A)3iTese 32 B)3ieesie 23-24
C)3iJzde 368 D)3fefeoe 14-18
Answer Key : D Your Response : Not Answered

Question No. 44

Choose the alternative that best replaces the question mark(?) in the

given figure.
5 i ¢ 8 5
1 2 4
A) B)
39 41
© 32 g 27

Top



38 TeT & IO H, A FPA H VT BEd (7) F E W W™

e & T wafeaw suged &
5 6 8 9 5
1 2 4
A) B)
39 41
© 32 ) 27
Answer Key : A Your Response : Not Answered

Question No. 45
Three friends—P, Q and R are living in the same locality. The house of Q is to the east of P's house, and R's
house is to the south of P's house. What is the direction of R's house with respect to Q's house?
A)North west B)South
C)North D)South west

AT ART-P, QINRREF ATTF ATWRE QFRPFRF T AE, 3R & WP F W F afdor
AP QF N F FEY F R & gt Y fem r 82

A)3cR giRaH B)gfaror
C)3cR D)af&or ufas
Answer Key : D Your Response : D (Correct)

Question No. 46
Interest on Rs.800 in 3 years at 4% Simple Interest equals twice the interest on Rs.300 at 8% in 'n' years,
then find 'n'.
A)3 B)4
C)2 D)1.5

4% FTUROT AT T a7 9T §. 800 HiI AR W 3 a9 3 e arar 4rs, 8% HTUROT AT T T W T. 300
IR W 'n' a§ F TR qT A F AW F WK/ g, A '’ F AW AT Pfow

A)3 B)4
C)2 D)1.5
Answer Key : C Your Response : C (Correct)

Question No. 47

Top



Read the following information carefully and answer the question given below.

Eight colleagues—A, B, C, D, E, F, G and H are sitting around a circular table facing the center but not
necessarily in the same order. Each one of them holds a different post—Manager, Secretary, Chairman,
President, Vice President, Group Leader, Financial Advisor and Managing Director.

A sits third to the right of the Managing Director, and only two people sit between the Managing Director and
H. The Vice President and the Secretary are immediate neighbours. Neither A nor H is a Vice President or a
Secretary. The Vice President is not an immediate neighbour of the Managing Director. The Manager sits
second to the left of E. E is not an immediate neighbour of H. The Manager is an immediate neighbour of
both the Group Leader and the Financial Advisor. The Financial Advisor sits third to the right of B. B is not
the Vice President. C sits to the immediate right of the Chairman. A is not the Chairman. F is not an
immediate neighbour of A. G is not an immediate neighbour of the Manager.

Who among the following sits third to the left of E?
A)Vice President B) Secretary
C)Financial Advisor D)President

fAfaf@d Ieert @ e & 9§ 3R S T a1 wes &1 3caw &)

35 Wewt - A, B, C, D, E, F, G 3R H & e &9 & aRt 3R 38& &5 A1 3N g =& 8 § g
g HH A A 1 I @ TS HOWT AWl - YU, Wi, DA, ewer, surewe, 9 ofist, Ry
HAEHR U Y& A & 9 W §l

A, YEY 3 & g ¥ WY T | 37 §, 3R w6 @ vd H §F 9 F Fad o) der 83§ sureaey
3R T Aweas = §1 A 3R H & ¥ RS ofr 3urewer ar afRg 7 &1 3urewst, vy AeRes F1 Rdhean
usrl i€ §1 SeUF E F a1 3R qEt T W dor §1 E, H F Rwean TS ¢ §) weuw, g9 s @
AT aaEsR, et & Awead IR §1 ey FaEsR, B & ¢ 3R IRy T« W dor §1 B, 3ureast
& &1 C, T F oF 3N TFEH 9T & doT &1 A, AIET FE &1 F, A T Pweanw g 7 ¥ G,
Yateh HT Aehedd IR g B

RAfRf@d # ¥ T E & a1F 3R O T | dor 872

A)3qregat B)&faa
C)facdia Hellgshx D)3reget
Answer Key : C Your Response : Not Answered

Question No. 48
Find the total surface area of a hemispherical bowl of thickness 'd' and internal radius 'r'.
A)Ti(4r2 + 3rd + d?) B)4mr? + 4nrd + 3d?

C)4mr2? + 6murd + 3d? D)m(4r2 + 6rd + 3d?)

Arers 'd' AR IaRF B v g vE PR FER F T SAbe AT R

A)n(4r? + 3rd + d?) B)4nr? + 4rrd + 3d?
C)4mr? + 6rrd + 3d? D)r(4r? + 6rd + 3d?)
Answer Key : D Your Response : D (Correct)
Question No. 49 Top

In which phase of the moon, is the moon invisible?



A)Gibbous moon B) Full moon
C)New moon D)Crescent moon

TgAT Fr R AT #F, TgHAT T gar 82

A)3ediel dog B)qut @es
C)3tATaEam D)314eg
Answer Key : C Your Response : Not Answered

Question No. 50

The formula of current | = /time (t).

A)Charge (Q) B)Resistance (R)

C)Volt (V) D)Power (P)

e urT F1 g7 | = | 997 (1) Bl

A)3mar (Q) B)ufaRrer (R)

Cyaree (V) D)ufed (P)

Answer Key : A Your Response : A (Correct)

Question No. 51
Edges of a cuboid are in the ratio 1 : 2 : 3. Its surface area is 88 cm?. What is its volume?
A)48 cm? B)120 cm?
C)24 cm? D)64 cm?

T Gl & ST 1: 2: 3 F Ul & g1 SHA YOI &iathel 88 J2 B, o $HH IR AT AfC]

A)48 T3 B)120 &3
C)24 a#3 D)64 @=T3
Answer Key : A Your Response : A (Correct)

Question No. 52

Find the equivalent fraction pairs from the following fractions.

2/5, 8/11, 42/63, 57/33, 48/120, 2/3
A)(2/5, 48/120) and (42/63, 2/3) B)(2/5,8/11)
C)(2/5, 48/120) D)(42/63, 2/3)

fArfaf@d Bl & TAged Biest oo A

2/5, 8/11, 42/63, 57/33, 48/120, 2/3

A)(2/5, 48/120) 3R (42/63, 2/3) B)(2/5, 8/11)
C)(2/5, 48/120) D)(42/63, 2/3)
Answer Key : A Your Response : A (Correct)

Question No. 53
A train running at a speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train?
A)150 m B)324 m
C)180m D)120 m

Top



60 frereiiey/ ger i 1Ty ¥ T arel Th (IS U W FF 9 Ahs F IR =l § &F T da1s el 872

A)150 #Hex
C)180 Frex

Answer Key : A

B)324 FHrex
D)120 #ex

Your Response : A (Correct)

Question No. 54

Who was the first Indian to receive the Nobel Prize?

A)Mother Teresa
C)Har Gobind Khorana

B) Rabindranath Tagore
D)Amartya Sen

A PR WIed el aTel Gl AR HieT A?

A)FET T
C)ex Mfde G
Answer Key : B

B)dlegaArd &Ik
D)3@#\cd Tl

Your Response : B (Correct)

Question No. 55

With which of the following sports is Koneru Humpy associated?

A)Hockey
C)Badminton

B)Chess
D)Golf

Few O i@ 7 @ e @a & ST §?

A)gIr
C)ssfHeaT

Answer Key : B

B)erdst
D)ale®

Your Response : Not Answered

Question No. 56

If doubling a number and adding 20 to the result gives the same answer as multiplying the number by 8 and

taking away 4 from the product, find the number.

A)3
C)4

B)6
D)2

e el |EAT T AT I FHH 20 SiIse W Gel Sco] Aeldl &, S 3 §&AT HT 8 § IO P I[OleAhel

#H ¥ 4 ger W RAear g, O g&Gr A fifow|

A)3
C)4
Answer Key : C

What is the Sl unit of pressure?
A)Newton per metre N/ m
C)Newton N

qE & S| AEF FAT 872
A)egee 9fd #leT N/ m
C)7gea N

Answer Key : B

The most abundant metal in the earth crust is-

B)6
D)2

Your Response : C (Correct)

Question No. 57

B) Pascal Pa
D)Newton metre N-m

B)urEhel Pa
D)=geeT #HleX N-m

Your Response : B (Correct)

uestion No. 58
0 Top



A)Sodium B) Calcium
C)Aluminium D)Iron

S 3% Wl ST AT 3 W8 Y AT eng e @ ¥

A)aifsas B) &ferras
C)uegiafags D)eirer
Answer Key : C Your Response : C (Correct)

Question No. 59
Which of the following is NOT a root?
A)Radish B) Beetroot
C)Cabbage D) Turnip

faf@a & ¥ Fi9 a1 F (root) =T&r &2

A)F B) geheX
C)Ucdrensdr D)ot H
Answer Key : C Your Response : C (Correct)

Question No. 60
Simplify: 1.2x2.5% 0.5
A)150 B)15
C)1.5 D)0.15

T F: 1.2 x 25 x 05

A)150 B)15
C)1.5 D)0.15
Answer Key : C Your Response : C (Correct)

Question No. 61
Which of the following is NOT a contagious disease?
A)Measles B) Influenza
C)Typhoid D)Arthritis

RArfaf@a § ¥ FiT @ Had FFes 786 82

AYGERT SEGEENE]
C)31 T Ta¥ D)arfear
Answer Key : D Your Response : D (Correct)

Question No. 62
Which city is called 'The Pink City of India'?
A)Jodhpur B)Jaipur
C)Kalka D)Pathankot

e 2T 1 AR F e e (W A wer Sirar 872

A)SEqR B)SrIR
C)aTelhT D)JaTeiehic
Answer Key : B Your Response : B (Correct)
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Question No. 63



Which of these statements is NOT true?

A)Proteins denature at high temperature B) Proteins denature by change in pH
C)Proteins are inactive at low temperatures D)Proteins are not affected by temperature
g @ FIT W FYT T A 2

A)FIET 3T a9 R T g o gl B)Wée, pH # aRade g W fasd & o &
C)Né et ag R fafSrar gia 1 D)9 drg & T S8t & &l

Answer Key : D Your Response : Not Answered

Question No. 64

Complete the series.

5, 6,14, 45, 184, (...)

A)925 B)876
C)902 D)917
Soft &1 qot +X)

5, 6, 14, 45, 184, (..)

A)925 B)876
C)902 D)917
Answer Key : A Your Response : Not Answered

Question No. 65

Find the missing group of alphabets in the following series.

WC, CW, (...), MM, RH
A)WC B)MM
C)CW D)HR

fAefaf@a Jofr & ¥ a3 wag @ fifsw

WC, CW, (.), MM, RH

A)WC B)MM
C)cw D)HR
Answer Key : D Your Response : Not Answered

Question No. 66
A jar of milk contains 40% water. A part of it is replaced by another milk containing 19% water. Now the
percentage of water is 26%. What quantity of milk was replaced?
A)1/3 B)2/3
C)2/5 D)1/5

U F UF IR # 40% Ul §l 36F Th RBEY F g g ¥ dad faar Jrar 8, s 19% 9= 81 3 9Bdp
& fRId 26% &1 qY I fhdell AT I geelr 1T ?



A)1/3 B)2/3
C)2/5 D)1/5

Answer Key : B Your Response : Not Answered

Question No. 67
A and B invest some amount in the ratio 3 : 5 in a business. After 6 months, C joins them with an investment
equal to that of B. In what ratio should the yearly profit be shared among A, B and C?
A)6:7:5 B)6:10:5
C)3:5:6 D)3:5:4

AR B UH Fa@T # 3: 5 & IUT A T AN A = &1 6 AT & G, C ¥a9T # B F
AT FH 3 e ¢ A et A A, B AR C & i v Jiegara 7 e A e wifge?

A6 :7:5 B)6 : 10 : 5
C)3:5:6 D)3:5:4
Answer Key : B Your Response : B (Correct)

Question No. 68
When was the Central Pollution Control Board constituted?
A)1974 B)1981
C)1986 D)1970

AT e fREOT SIS A TG e §g A

A)1974 B)1981
C)1986 D)1970
Answer Key : A Your Response : Not Answered

Question No. 69
In which part of the body is thyroid gland situated?
A)Head B)Abdomen
C)Throat D)Chest

IRRTYs 4 R & fFg ser F Rua gkl 82

AR B)3eX
C)3Telr D)ordr
Answer Key : C Your Response : C (Correct)

Question No. 70

If J2x-1-yx-4=2. then find the values of 'x".

-13,-5 13,5
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) D)

I 2ox-1-x-4=2 & o < F A 717 i

A) B)
-13,-5 13.5
0) D)
6, -9 -13,5
Answer Key : B Your Response : B (Correct)

Question No. 71
Who among the following will be ICC's Chief Executive Officer after the 2019 World Cup?
A)Manu Sawhney B) Tom Harrison
C)Kevin Roberts D)Thabang Moroe

2019 favg F9 F d1g FARAT 7 & Pl IEAA F7 &7 FESA FfASAT Fem?

A)F dTReA B)eiH &REsT
C)&fae JaeH D)UeTaT ARY
Answer Key : A Your Response : Not Answered

Question No. 72

From where is the solar energy obtained?

A)Sea B)Sun

C)Stars D)Moon

W Folt Fl @ e el 87

A)H’ﬂﬁ B)H:é'

C)ar D)agHT

Answer Key : B Your Response : B (Correct)

Question No. 73
Which number is a factor of all numbers?
A)1 B)O
C)2 D)-1

Fler @ e welr dEAst F IOEEs gl 82
A1 B)0
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C)2 D)-1

Answer Key : A Your Response : A (Correct)
Question No. 74

Which of the following hockey players was awarded with Rajiv Gandhi Khel Ratna Award?

A)Leslie Claudius B) All of the options

C)Dhanraj Pillay D)Udham Singh

freafaf@a & & fra gl Bamsr a1 Toha el Qe T TR § FFATTAa B

A) el FAI3THT B)se & @Y
C)teRTeT freer D)3eH &g
Answer Key : C Your Response : Not Answered

Question No. 75
The light rays that are used for eliminating bacteria in test tubes used in pathology labs are-
A)X-Rays B) Infrared rays
C)Microwave radiations D)Ultra Violet radiations

Heficilolt AT F FgFd R@eel (¥ TFF) 7 SNampit A T F¥a F A g vwrr Bl Sia @ §2

A) X-ferzor B)37aard faor
C)ATghaa fafemor D)urelered fafereor
Answer Key : D Your Response : D (Correct)

Question No. 76

Blue litmus when added to an acidic solution changes to-

A)Red B) White

C)Violet D)Green

I R{oas # s 9| W s foreww &1 o1 sgaea & ST
INGIGH B)dthe

C)sarsir D)

Answer Key : A Your Response : A (Correct)

Question No. 77
Compare rolling friction and sliding friction.
A)Rolling friction is either greater or equal to slidingB)Rolling friction is greater than sliding friction
friction

C)Rolling friction is smaller than the sliding friction D)Rolling friction is always equal to sliding friction

drefas e¥or (rolling friction) ve @t eor (sliding friction) #r Jerer ST
Ayeliefasd &y (rolling friction) am af @df @YurB)elefes @YUT (rolling friction), @&dT &vor (sliding

(sliding friction) ¥ 318 a7 3T% SRR & &l friction) & 31f&e grar gl

C)drefai &¥uT (rolling friction), &Y &Yor (slidingD)dicf@® &9or (rolling friction) g&em @dT &wor
friction) & & gIdT gl (sliding friction) & SRTSR &dT g

Answer Key : C Your Response : C (Correct)

Question No. 78
Total age of x and y is 15 years more than the sum of the ages of y and z. What is the value of (x - z)?
A)10 B)9
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C)12 D)15

x ARy fr F 3, y 3R z Fr 3 F A1 F 15 a¥ HW@F T (x - 2) F AT F=4TP?

A)10 B)9
C)12 D)15
Answer Key : D Your Response : D (Correct)

Question No. 79
Who was the first Indian woman to feature on an Indian stamp after 15 August 1947 ?
A)Kasturba Gandhi B)Meera Bai
C)Sarojini Naidu D)Rani Laxmibai

TE UEel AR Afgem Flet o, S B 15 3P 1947 & dle HRAT e W ARy Hir A2

A)FECIET el B)HRT a5
C)aATS=AT w1 D) aigH 18
Answer Key : B Your Response : Not Answered

Question No. 80

In the following question, correct the equation by interchanging the two signs.
4x3-6+2+7=8

A)- and x B)+ and -
C)+and =+ D)x and =+

frafaf@a wea &, ar Redl F RER Fget FHF0T 1 qgfad F

4x3-6+2+7=28

A)- 3R x B)+ 3R -
C)+ 3R + D)x 3kt =+
Answer Key : B Your Response : B (Correct)

Question No. 81

Which number will best complete the relationship given below?

15:65::24:?
A)130 B)134
C)103 D)126

et W FEAr A Rw 7w G A T Al § O B

15:65::24: 7

A)130 B)134

C)103 D)126

Answer Key : D Your Response : Not Answered

Question No. 82
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Find the value of tan 10° tan 15° tan 80° tan 75°.
A)1 B)2/3
C)1/3 D)1/2

tan 10° tan 15° tan 80° tan 75° & AT AT HLl

A1 B)2/3
C)1/3 D)1/2
Answer Key : A Your Response : A (Correct)

Question No. 83

Read the following information carefully and answer the question given below.

Five friends A, B, C, D and E are sitting on a bench facing north. A is sitting next to B. D is sitting next to C. D
is not sitting with E. E is on the left end of the bench. C is on the second position from the right. A sits to the
right of B. A and C are sitting together.

Who is sitting in the middle of the bench?
A)A B)D
c)B D)C

faf@d IEa #F e ¥ 96 3R A Rw 1w west 1 3o’ &)

grg @, A, B, C, D 3R E 3cci &1 Hg 9% U 99 WIS §1 A, B & 79I # o1 g3 §1 D, C & Forer &
4T §3T &1 D, E & Wy gl ¥7 §l E, 99 & a0 ey w da7 {1 C, & & gl ¥ W d7 gl A 3R C,
T WY IS §

¥ & fT 7 T dor 82

A)A B)D

C)B D)C

Answer Key : A Your Response : A (Correct)

Question No. 84
Which type of lens is a natural lens present in the human eye?
A)Convex B) Concave

C)Bifocal D)Progressive

Aq A i@ 7 Al TpfaF oF R yEmR T gl 82

A)3cder B)3radel
C)STSwhishol D) EIDIFE]
Answer Key : A Your Response : A (Correct)

Question No. 85

The drying of milk of lime (white washing) is due to the action of-

A)Nitrogen in air B) Oxygen in air
C)Hydrogen in air D)CO; in air
I & I (JATS) T HEAT $r frar Fr goiE A AT Top

AYarg & Alge Arserete B)arg & #Hivg 3ifereioret



C)arg & #is[g grsgiete D)arg # #Hisfg CO,

Answer Key : D Your Response : Not Answered

Question No. 86
Which of the following attractive forces exists between different layers of graphite?
A)Vander Waals forces B) Gravitational forces
C) Columbic forces D)Electromagnetic forces

dvse f RAfeT wdl F < Ffaf@a F & Fia § rwdor g Algg o §2

A)dTe =X dled ool B) F&careh¥oT aef
C)%erd ael D)fdegd gFaehra sl
Answer Key : A Your Response : A (Correct)

Question No. 87
An alarm was set at 11 AM on Monday on a clock that was set correctly at 1 AM on Sunday, but the clock
started gaining 20 seconds every 24 hours. What was the actual time when the alarm went off?
A)10:51:20 AM B)10:31:40 AM
C)11:30:00 AM D)10:30:00 AM

AR # gag 11 991 & fAC v rant de fmar o/ o, s WER @ a9 1 59 @@ <7 & de fmar ar=w o,
AT B3 &7 24 el & a1g 20 Vs TG oelf| IR Tl H1 AT GHT FAT AT?

A)gara: 10:51:20 B)ura: 10:31:40

C)ura: 11:30 D)9rda: 10:30

Answer Key : This Question is dropped and

Your Response : Not Answered
will not be consider during the evaluation

Question No. 88
Which of the following states of India is the largest producer of lignite coal?
A)Maharashtra B) Tamil Nadu
C)Gujarat D)Madhya Pradesh

IR FT S8 ¥ BT AT T fATBE PRI FI Fa& 987 3CH &2

A)FERTSE B)dfAelrg
C)3TeRTd D)AET geer
Answer Key : B Your Response : D (Wrong)

Question No. 89
Which of the following transactions is the best when considering the corresponding profit percentage?
A)Cost price Rs.50, profit Rs.24 B) Cost price Rs.40, profit Rs.15
C)Cost price Rs.60, profit Rs.24 D)Cost price Rs.36, profit Rs.18

I o faed & Rue ¥ Ref@a & & Sl a1 o &7 3T &7

A)hT H\FJ %. 50, °IfeT 5. 24 B)sT ?H;F*’JI' T. 40, 17T 3. 15
C)FT e %. 60, @ &. 24 D)#FT #HeT %. 36, AT & 18
Answer Key : D Your Response : D (Correct)

Question No. 90

On what factor does the colour of scattered light depend upon? Top

A)The colour of the scattering particles B) The refractive index of the particles



C)The size of the scattering particles D) The amount of impurity

YRITOTT WehTer & 3T fF R 9T AR war 872

A)ThIoTa Foi & T W B)&hUll & 3T9dcislich W
C)uhIfoTd &Uull & R ) D)31erfg & AT W
Answer Key : C Your Response : Not Answered

Question No. 91
If 14 * 64 =39, 25 * 37 = 31 and 9 * 17 = 13, then what will be 52 * 46?
A)49 B)51
C)42 D)38

e 14 » 64 = 39, 25 » 37 =31 31 9 » 17 = 13 &, @ 52 * 46 F AW AT FTAT|

A)49 B)51
C)42 D)38
Answer Key : A Your Response : Not Answered

Question No. 92
Sixteen women working 7 hours a day will complete a job in 48 days. How many women are needed to
complete the same job in 32 days working 12 hours a day?
A)14 B)12
C)17 D)10

Hierg AfReTd, v FoT F afafe 7 6 FT FF 48 Rat 7 qu wCA §1 36 Fer A wfale 12 6w
FF 32 ot # QU = & AT et Afgensit fr smaegwar @efre

A)14 B)12
C)17 D)10
Answer Key : A Your Response : A (Correct)

Question No. 93
Three of the following four of alphabets and numerals have the same relationship between their elements as

in the case of the pair ROUT : 5487 and hence form a group. Which of the following does not belong to the

group?
A)ROT : 587 B)TOR: 745
C)OUT : 487 D)OUR : 485

ffaf@a ar & & e 3R 3R 3w F saudt & g dur & w@du ¥ ST geA ROUT: 5487 # § 3l 5@
YHR TF Wg a1 &1 Pefaf@a & & #la @1 50 wog & et o181 87

A)ROT : 587 B)TOR : 745
C)OUT : 487 D)OUR : 485
Answer Key : A Your Response : Not Answered

Question No. 94
According to law of refraction what is said about the incident ray, refracted ray and the normal to the
interface of two transparent media at the point of incidence?
A)All have the same length B)All lie in the same plane

C)All are refracted D)All have the same angle
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IaciT & AR & AR, Imafdd for, Ivafda fRor AR smader fig o ar Rt At & gehd W
o9 & SR F T T e &7

ATl fr dars AT BT B B)@er s & ao # 8 &l
C)asfr 3rgafdd g &1 D)3 FT T FHAT gaT Bl
Answer Key : B Your Response : B (Correct)

Question No. 95

Which number will best complete the relationship given below?

343:7::729:?
A)9 B)7
C)11 D)12

et W FEAr A R 7T G AT A § O B

343 : 7 2729 : ?

A)9 B)7
C)11 D)12
Answer Key : A Your Response : A (Correct)

Question No. 96

Find the ODD one out from the given options.

A) B)
0 D)
few a1v fshedt F & @ea & g

A) B)
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C) D)

[ 4
- 'y
@
Answer Key : A Your Response : Not Answered
Question No. 97
Which of the following is a chemical change?
A)Evaporation of alcohol B) Rusting of iron
C)Melting of ice D)Crushing a can
fAmfaf@a # ¥ Fia @1 v yEfAE aRad &2
A)Ucehlgel &1 arsdlehior B)eilg # SaT farer
C)a% &1 Rgeer D)ferdT et T her T
Answer Key : B Your Response : Not Answered

Question No. 98
The length of a rectangular plot is thrice its breadth. If the area of the rectangular plot is 867 m?, then what
is the length of the rectangular plot?
A)5Tm B)68 m
C)34m D)17 m

TF HAAHR @S H aS sHAr °is ¥ e I g IR IEAPR @S F oAk 867 M ¥, a

HIAFR TS Fr oS T 872

A)51 e B)68 #Hex

C)34 #Hex D)17 ez

Answer Key : A Your Response : A (Correct)

Question No. 99
'A' is to the south east of 'C', 'B' is to the east of 'C' and north east of ‘A If 'D' is to the north of 'A' and north
west of 'B', then what is the direction of 'C' with respect to 'D'?
A)South east B) South west
C)North east D)North west

A, CHFTRTEAS B, CHFPATINAFIR @A IRD, AF3caRATINB &
3cal 9RTH & &, ar 'D' & ey 'C' fir four w=r 82

A)gTeToT g B)gfayor gfeas
C)3ceR qd D)3cak ufRaH
Answer Key : B Your Response : C (Wrong)

Question No. 100
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In the given figure, the circle represents writers, triangle represents
engineers, and square represents dancers. Which region represents
writers and dancersbut not an engineers?

B
A) a )
D
C D
) C )
E
Answer Key : B Your Response : B (Correct)
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